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+22 =23 x1
(:) Bill has 6 and Juan has 15. How many do they have together?
(6) which is closer to 4 2 0 or 10
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Lan had 36 and gave 20 to Jody. How many does Lan have now?

(:) Which is closer to 5 ? 0 or 10 (answer: neither)
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(:) Sharlan had 68 and gave 36 to Fred. How many does Fred have?
Tens | Ones
C) Six tens and seven ones = b 7
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Lorenzo had 95, and then gave all but 26 to Nancy. How many
did he give to Nancy ?
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1 0 4
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@ Copy 3245. Circle the digit in the hundreds place.
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<:> Copy 3245. Circle the digit in the tens place.

hun tens ones
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